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SECTION - II

MATHEMATICS
1+P 1—P
[ I3 ] % [ 3 ] =7
2 D2
(1) Pl @) Lt () 1L (@ 5P

Surface area of a sphere is 616 sq.cm. Which of the following is an incorrect
alternative related to the sphere with double the radius of that sphere?

(1) Surface area will be 2464 sq.cm.
(2) Surface area will be 1232 sq.cm.
(3) Surface area will increase by 1848 sq.cm. than first sphere.

(4) Surface area will be four times the surface area of first sphere.

Anjurani weighed an object and noted it’s weight in four different ways as

given below. Which two alternatives from the given, denote the same weight?
(1) 12 kg. 175 deca gm. (2) 13 kg. 75 gm.
(3) 121 hecto gm. 75 deca gm. (4) 135 hecto gm. 250 gm.

Side of the adjoining square MNOP is
18 cm. Points ‘X’ and ‘Y’ are the midpoints
of the sides MP and NO respectively. Find
the area of the shaded region.

(1) 324 sq.cm. (2) 162 sq.cm.

(3) 81 sq.cm. (4) 243 sq.cm.
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27.  wis 2ol Yzsa 616 ALAHL 9. del s2dl oMl Bleal 4194l ofloa alioudl yzsa
ollotd «fl2iel Usl o vui 54l ?
(1) yzsn 2464 2.4l el
(2) yzsn 1232 AL ¢4l
(3) uddi alloudl dadimi ofloadl ysgui 1848 AlAHLAL AURL 2.
(4) uddl 2ol Y850 sl AR 219 29,

28.  »logR1gil2 vis axdsd aov 53 d AR UsR dlldl valdini vy 69, d sl s
ol YURAIHL 2A1UG dAord UMl 97
(1) 12 (s 175 351 L. (2) 13 [sa. 75 .
(3) 121 és2l UL 75 351 AL (4) 135 és2l AL 250 L.

ollog«dl 2A15[Aui AU MNOP-l ousy 18 dHl.
9. [61g <X vid Y’ 2454 0llsy MP idd ooy
NO <L Heufoigail 9. di 9ilsa st gasa
sedl ALkl ¢a?

(1) 324 (2) 162

(3) 81 (4) 243
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30. [(16xy+4y2 +16x2> N M _
(16X2 _4y2) ’ (4x—2y)
1 1 2 0
3) 2y + 4x (4) 4 =2y

31. A square shaped compound of a temple has side 40m. On each side of
the compound, triangular gardens of side equal to that of the side of the
compound are there. What will be the total cost of 5 rounds of wire fencing
for protection from their outer edges only, for all the gardens, at the rate of

Rs. 80 per m of wire?
(1) T 256000 (2) % 160000
(3) ¥ 512000 (4) < 128000

32.  Rs. 9700 are invested in the bank with simple interest at the rate of 5 p.c.p.a.
To get the same amount that will be received in 4 years in 2% years only,

by how much should the rate of interest needs to be increased?

(1) 8% 2) 5% (3) 3% 4) 2.5%

33 If (x=y)2 = 49 and (x+y)? = 169 then find (4xy) = ?
(1) 30 (2) 60 (3) 90 4) 120

34. All the vertices of a triangle are on the circumference of the circle at equal
distances from each other and at a distance of 14 cm. from the centre of the
circle. What will be the length of the median of that triangle?

(1) 7 cm. (2) 14 cm.
(3) 21 cm. (4) 28 cm.
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(tex*—4y?) 1 LE=2)]
(1) 1 (2) 0
(3) 2y + 4 (4) 4x -2

wis HleRel ARAUS[A uRuzdl olisy 40 HL. 9. d €35 olsyd 248l d ollog«ll HIU ov24l
or UMl oIy Y14l BPsIQusR ool 69, ot 52d a9l HI2 dRdl sl win vl
HRAl W2 wlalz 80 3MuuL uHGL d1s alitaldl v Sean 3 u9?

(1) 2,56,000 (2) 1,60,000
(3) 5,12,000 (4) 1,28,000

AIEL Ul €424, 5 <l €2 9700 3M0a1 oisHi sl AR azu ul oisHidl oredl
Y HAL 9 Azdl oy 2sH 217 QUHI ULyl HOaal HI2 disr«l €4 524l 4ARL YAl
651 ?

(1) 8% (2) 5% (3) 3% (4) 2.5%

(x—y>2 = 49 uid (x+y)2 = 169 ¢y, dl (4xy) = ?
(1) 30 (2) 60 (3) 90 (4) 120

Y N 2

wis [Psigledl A9 [RI[Gg¥ adadl uRe u uzzuzel UM 2idR 9. d €354 ada
Segiell widz 14 A4l 8. d uzel Bisigiedl Heaou ean Al ¢4 ?
1) 7 (2) 14

3) 21 (4) 28
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3s.

36.

37.

38.

39.

Which of the two alternative expressions from the given are perfect squares ?
1) (¥ -2 + x7? (2) (4m2 - 16n? — 16)
(3) (25p% + 369 — 30pq) (4) (64ab + 64a% + 16b2)

What will be the eighth odd number after the even number (3x — 5) ?
(1) (3x — 22) (2) (3x — 13)
(3) (3x + 10) 4) (3x + 3)

While selling an article, if Raghav increased its selling price by Rs. 384 he
will have 5% profit instead of 3% loss. What should be the original price of
the article?

(1) 19200 (2) < 12800
(3) < 7680 (4) < 4800
Two triangles are formed by diagonal BD A

of kite ABCD as shown in the figure.
Which test from the following is not

applicable for proving these two triangles B E N D
congruent?

(1) S-A-S (2) S-S-S

3) A-S-A (4) Hypotenuse-side C

Rafig has Rs. 28,500 with him in the form of some I 2000 notes and some
< 500 notes only. Which of the following could be the number of I 500 notes?

(1) 57 (2) 25 (3) 23 @ 11

SPACE FOR ROUGH WORK
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35.

36.

37.

38.

39.

Y Y

ALl Ul su1 ol wuidinidl el yol-9of 97
(1) (x2-2+x32) (2) (4m2 — 16n2 — 16)
(3) (25p% + 3642 — 30pq) (4) (64ab + 64a2 + 16b2)

(3x - 5) »il uHdval uegl sHA: viad] 2usHl [@uw 2ival 5657
(1) (3x —22) (2) (3x — 13)
(3) (3x + 10) (4) (3x + 3)

2194 w15 dxd, dudl avid a9l BHa 384 30t ARl ¢ld dl dd 3% vii2 srdld olgd
5% <sl @l dld. d urdl azddl vikle (5Ha seal 3 ea?

(1) 19200 (2) 12800
(3) 7680 (4) 4800
ooyl uglani (1 ABCD udal 8. A

Al (456l BD < dlé duR udi o
[Pasiell «dlzidl Usl 565 suidldl »iszu

B A D
gl <ol ? E
(1) ol-v-oq (2) oi-ou-oll
(3) virou-vi (4) sui-cpon ¢

gs wd 28,500 30U 9. o7Hi sedls izl ol ¢onz 3[Rl wid s2dls izl uiml
3utedl 2AH g5 ol o7 UsRAl izl 9. dl uinal 3l S2dl izl «dlAdl waiul s
Sl 25 7?

(1) 57 (2) 25 (3) 23 (4) 11

s5d 51AL 514 W2

0411-Gujarati Set-A 13 of 32 P.T.O.

1FC AT 1S R F4°C R TS T F40°C T 4 HC X H
7O\ @\ O\ A \LA\CA\ T\ A\ A\ A\ A\ a4\
AR AR AR AR AR AR A AR A HR A H



78\ 8\ 8\, 8\, 8\, 8\, 8\, 8\, 8\, 8\, 8\, 8\, &\
IFC RS X IR IR YRS XS KRS X TR YR 4R HIK A
B X X XAbC XAPC X0 XA XA b b X Ab 4P XAPL XY

40.

41.

42.

43.

44.

If \/1—==—% then ‘K>’ = ?

(1) 9 2) V16 (3) 16 “4) 9

Area of the square hall with height 4 m. is 49 sq.m. What will be the total
cost (in rupees) of colouring all the walls of that hall at the rate of Rs. 300

per sq.m.?
(1) 11200 (2) 74000
(3) 33600 (4) 42000

In a transaction, if the selling price is four times the loss, then what is the
percentage loss to the seller?

(1) 20 (2) 25

3) 125 @ 14

The conical tent with height 21 m. has base circumference 176 m. How much

air (in cubic m.) can be contained in that tent ?

(1) 17248 (2) 2464 (3) 7840 (4) 15680

How many shares of Rs. 500 each, did Pari purchased, if she spends Rs. 46350

with 3% commission?

(1) 95 2) 90 (3) 81 4) 87

SPACE FOR ROUGH WORK
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40

41.

42.

43.

44.

1—%=% ¢, dl k> = ?
(1) 9? (2) Jie (3) 16 (4) 9

AR {2z GlRusan vis Alkalsla clad dasa 49 ALHL 9. d cladl a8l ofldid
229l W2 Ul ARy {22 300 3 dul seal 3 wel »1a9?

(1) 11200 (2) 74000

(3) 33600 (4) 42000

Vi 52l AR 2RI A1 BHA €l ddl AUAeiRHI [Adid gdd]l dsg vie Sedl?
(1) 20 (2) 25
1
(3) 12.5 (4) 14
wis dg 2UsReAL dopedl Gl 21 4l 9 2id dlorpudl uka 176 Hl. 9. dl vudl doi
sedl aquler eal uHa?
(1) 17248 (2) 2464 (3) 7840 (4) 15680

-~

Ulagiz 500 3(uul UL A2l viRlEl s2dl quid w2 3% ealdl 2l Al s«

=\ N

46350 3001 el =l dl Agl s2di 9o vile sul ¢dl?
(1) 95 (2) 90 (3) 81 (4) 87
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45.

46.

47.

48.

49.

A side of a square is congruent to the 30 cm. diagonal of second square. Select
an incorrect alternative from the given, for the relation between the areas of
two squares.

(1) Areas of both the squares are not equal.
(2) Area of the second square is half that of the first square.

(3) Area of the first square is more by 900 sq.m. than the other square.
(4) Area of the second square is less by 450 sq.m. than the area of the first
square.

In the adjoining circle with centre C, P
m/PRS = 55° ; then m/PSQ = ? Q
(1) 55°
(2) 40°
(3) 45°

(4) 35° R\_/ >

An obtuse angle is formed between the hour hand and minute hand of a clock.

Which two alternatives from the following will correctly represent the possible time?
(1) 1:20 hrs. (2) 11:40 hrs.
(3) 4:05 hrs. (4) 8:55 hrs.

Ratio of the lengths of the diagonals of a 20 cm. sided rhombus is 3:4. What

will be the area in sq.cm. of that rhombus ?

(1) 768 (2) 384 (3) 192 4) 96

After reading %th part and 68 pages of a book, 92 pages are still remaining.

What is the total number of pages of that book?
(1) 360 (2) 280 (3) 153 4 117

SPACE FOR ROUGH WORK
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45.

46.

47.

48.

49.

wis AUl ooy ol ofloa ARUAL 30 AUl dorldl [Asel 2018 15340 9. di d oted
ARUAL EA50 ollotd <A1l Usl 2o [A81d 547

(1) oleel ARUAL &g UHIA A2,

(2) olloa =RU, &oagn, uddl ARUAL &Asel 2184 9.
(3) uddl ARU, &gy, ofloa s2dl 900 ALl AUR .
(4) olloa 2AlRuUd, &oasn, uddl s2di 450 2ALAHL g .

ollsy«dl 2A5{AUL “C” Segaion adumi P
m/PRS = 55° ¢4, dl m/PSQ = sedl?

(1) 55°

(2) 40°

(3) 45° I(i\\\\\\‘_’////// S

(4) 35°

alsulomi sdls-sicl wd [Medle-si2l 929 35190 adl €, d dHY galadl of waiul
edl2lel Ul s ?

(1) 1:20 ad (2) 11:40 a12d
(3) 4:05 (4) 8:55 A

Y N

20 Al ooyl UHGYsY AQBsIRIAL [A5QUAL HIUeAL 2)RITR 3:4 9. dl d AdPs1els
Aosn Seal ALAHL ¢ ?

(1) 768 (2) 384 (3) 192 (4) 96

uis Ydsedl % Q1AL Vi 68 Ulell G215 2141 ULl 92 Uil AUAL €l dl d YsHi 4
Sedl uldl 69 ?

(1) 360 (2) 280 (3) 153 (4) 117
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Q. 50 and 51 Directions :

In a school, there are 50 students on roll in each of Std. V to Std. VIIL
Below given joint bar diagram is representing attendance of the students
Standardwise. Observe the graph and answer the questions.

3 S R
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1 cm. =2 boys / girls
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78\ 8\ 8\, 8\, 8\, 8\, 8\, 8\, 8\, 8\, 8\, 8\, &\
FC RS X IR S YRS XS IR IR TR YR AR HIK A
B X X XA AP X0 XA XA b AP XAb 4P AP XY

50. By what percentage the present girl’s attendance is more than the present boy’s

attendance?
(1) 10 2) 2
(3) 20 4) 25

51. By considering attendance of both boy’s and girl’s, which standard has the
least attendance?

(1) Eighth (2) Seventh
(3) Fifth (4) Sixth

52. If 25% of 780 = M% of 1950 then ‘M’ = ?
(1) 10 2) 12
3) 8 4) 14

53. If L.C.M. of two consecutive even numbers is 312, then what will be the sum
of these two numbers ?
(1) 48 (2) 46
3) 52 4) 50

54.  All points shown on the given number-line are at equal distances.
I(UR) — /(QT) =?

P Q R S T U
< } } B I; } } } } } } } } } } ll } } >
8
(1) IRS) (2) LTU)
(3) IQR) (4) 1(SQ)
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50.

51.

52.

53.

54.

NN

YQIR0L UL GUlRUd 95U 53l GulRUA it Ass sedl quR 97

(1) 10 (2) 2

(3) 20 (4) 2.5

91520 2l 9153124l Hulld Gulala odssal dl Alel 1] Gulala sat aiRedl 97
(1) »usdl (2) =uaHl

(3) il (4) €l

780 €l 25% = 1950 «l M% €14, dl ‘M’ = ?

(1) 10 (2) 12

(3) 8 (4) 14

ol $HAR HUH AvAldl Q.UL[A. 312 9, dl d dvaldl 4A00 $24l?
(1) 48 (2) 46

(3) 52 (4) 50

“Al2l 21udl duaRvil w2 galddl ol [Aguil wuld vidR 9.
d =4l /(UR) - /(QT) = ?

p Q R S T U
<t _Ii | 1 >
g
(1) URS) (2) 1(TU)
(3) QR (4) 1(SQ)
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5S.

56.

57.

58.

Five years ago, mother’s age was twice her daughter’s age. If the ratio of
their present ages is 11:6, then what will be the difference in their ages
(in years) five years hence.

(1) 20 (2) 25

(3) 30 4) 35

If a+b =13 and ab = 36 then a2 + b% = ?
(1) 169 (2) 8l
3) 97 4) 16

Which of the two options given below are incorrect statements?
(1) All integers are not real numbers.

(2) Some rational numbers are integers.

(3) All rational numbers are integers.

(4) Some integers are not whole numbers.

Following table shows the subjectwise marks scored by a student in a summative
test. Find the average marks.

Subjects | Marathi Hindi Maths Science | Social Science
Marks 32 36 48 44 40

(1) 40 (2) 38

(3) 42 4) 36
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5S.

56.

57.

58.

i ay uédi Hidldl GuR dddl €lsldl GUR s2dl ouell ¢dl. dudl 2ol GHzAl

QTR 11:6 8. dl Ui AR Ul cleddedl GHR 923l dglad s24i Y ¢ ?

(1) 20
(3) 30

(2) 25
(4) 35

a+b=132dab = 36 &, dl a2 + b2 = s2q1?

(1) 169

(3) 97

(2) 81
(4) 16

Al Ul sl ol WML [A8dl 1 97
(1) ol yauls vl aidlds dvan eldl «el.

—_~ ~~
(O8]
S—" S S

Sedls Ay =val yulls dval i 6.
otll dHY Aol Yulls dval i 9.
sedls yails 2ival Yol v gldl «l.

wis [Qaeld wslad yeauua Hizdl dvila uaumi [z Hodi op dl=iqdl
SISIHL UL 99, ds], HEMHIA AL,

[qun Y673 el »{92 Q1A [Asud | uuisvaza
o9l 32 36 48 44 40
(1) 40 (2) 38 (3) 42 (4) 36
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78\ 8\ 8\, 8\, 8\, 8\, 8\, 8\, 8\, 8\, 8\, 8\, &\
FC RS X IR S YRS XS IR IR TR YR AR HIK A
B X X XA AP X0 XA XA b AP XAb 4P AP XY

59.

60.

61.

62.

63.

In the adjoining figure, P S
. J : © /A R\ /7' B\
line AB || line CD and < 3 >

mZRGC = 50°, then find
mZSFA — m/ZPEA = ?

O
(1) 50°
2) 80° L g 0D,
(3) 100° 507 \
4) 130° R Q
Ab—2a +5-3b—9+5a—4+3b—2a=2
(1) 4b + % - 4 (2) 2a + 4b — 8
(3) a—4b— 8 4) a+4b - 8

What will be the difference in rupees in the simple interest and the compound

interest earned on Rs. 5000 in 2 years at the rate 5 p.c.p.a.?
(1) 12.5 (2) 25 3) 375 4) 50

Average weight of Siya and Nisha is 29 kg. Average weight of Fiza and Siya
is 26 kg. If the total weight of Nisha and Fiza is 50 kg. what will be the
maximum weight (in kg.) amongst the three girls?

(1) 25 (2) 28 3) 30 4) 34

A work i1s completed by some workers in a few days. If the number of
workers is made %rd times the original number of workers, then how many
times will be the days required to be increased than the original to complete

the same work?

1 3 @ 1% 3 ¥ @ &
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59. oui%ﬂ siglami 2w A\B | <vit CD A N{ 7' By
24 m/RGC = 50° €, N P
Il msSFA — m/PEA = ?
(1) 50° N
(2) 80°
(3) 100° & >

. 509

(4) 130 R &

60. 4 -2a+5-3b-9+5a—-4+3 - 2a=7?

(1) 4b + 9a — 4 (2) 2a+ 4b — 8
(3) a—4b -8 (4) a+ 4b — 8
6l.  cqga. 5l e 5000 3 2 avd wig 2oy vid AsA[EU oy 923l 25 Sedl
3Mua?
(1) 12.5 (2) 25 (3) 37.5 (4) 50

62. [l 24 (Al oleds] a0 asvd 29 [5aL 9. (531 214 [RuL otedd, U120 dov<d
26 [su1. 9. o4 [qal 214 (5251 oiede] 54 dAovd 50 [5AL ¢lu, dl AQuiel 1l
QR 9o s2al [su.?
(1) 25 (2) 28 (3) 30 (4) 34

63.  wis 514 s2dis HoyRl s2dis [EauHi Y3 52 9. d oy s1H U2 HeyRidl vl uedidl
Aoyl $2dl % AR 52024 Al [Eaziiedl 2vu udal sal el 2wl qu9?

(1) 3 (2) 1% (3) & (4) 3
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78\ 8\ 8\, 8\, 8\, 8\, 8\, 8\, 8\, 8\, 8\, 8\, &\
FC 4IRS RS RS X4 IR R RS KRS XS X4 HIRC HK H
B X X XA AP X0 XA XA b AP XAb 4P AP XY

64. Length of the longest chord of a circle is 7 m. What will be the length of
the parallel chord to it, at a distance of 2.1 m. ?
(1) 2.8 m. (2) 5.6 m.
3) 42 m. (4) 3.5 m.

65. 1r16° = /49 . then k = ?

(H 1 (2) 6
(3) 12 4) 17

66.  In the adjoining figure, LJEFGH is a rhombus

with diagonal 28 cm. and vertices are on the E F
circle with centre ‘O’. Find the area of the
shaded region. O
(1) 56 sq.cm. (2) 112 sq.cm.
(3) 105 sq.cm. (4) 210 sq.cm.
H G

67. Which of the following two alternatives are perfect cube numbers?
(1) 0.0270 (2) (—0.000625)
(3) (-13.310) (4) 0.0729

68. By how much is the greatest of the following numbers is greater than the

smallest of the given numbers. 1%, %,%,%,%
5 1

ORET 2) 3o
2 1

3 15 @ 2
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64.  »is adadl Al HiZl waidl douss 7 {2 9, dl d or adami deidl 2.1 Hlez vid?
2194] UUidR Al dots) seal Hler ¢d?

(1) 2.8 (2) 5.6
(3) 4.2 (4) 3.5

65. 04165 = /4% g, dik = ?

66. ooyl 2us(ani CJEFGH AHGYr AQBSIEL 6.

AN c A\ oy A AN 2 * ¢ 9 E F
adl (a5l 28 A4l 8 2 d«dl ot [GRilag ‘O
Slesd ador uz 9. d wrel 9rilsa @l ssdsn
Yoar dlaell, €27 A el 9
(1) 56 2) 112
(3) 105 4) 210 1 A
67. <l Usl s ol vuldimicdl v Yelad 24va 97
(1) 0.0270 (2) (-0.000625)
(3) (-13.310) (4) 0.0729
68. 1%, %%% w1 % gl Al Widl v wi Q] il v sl seeudl Wil 97
5 1
(1) 1 (2) 35
2 |
3) {5 (4) 5
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78\ 8\ 8\, 8\, 8\, 8\, 8\, 8\, 8\, 8\, 8\, 8\, &\
FC RS X IR S YRS XS IR IR TR YR AR HIK A
B X X XA AP X0 XA XA b AP XAb 4P AP XY

69. ‘Diagonals of the are perpendicular bisectors of each other.’

Choose the correct alternative from given options to complete the above statement.
(A) Rectangle

(B) Square

(C) Rhombus

(D) Parallelogram

(E) Kite
(1) Only A and B (2) Only B and C
(3) Only B, C and E (4) Only A, B and E

70.  Observe the two planes X and Y shown in the
diagram and select ‘two correct’ statements from
given.

(1) Points F, B and C are belonging to
different planes.

(2) A line is formed where two planes intersect.
(3) Point A, G and E are non-collinear points

lying in the same plane. M B
(4) Two planes are parallel to each other.

71.  Spandan purchased two articles each for Rs. 3750 when 8% discount was
declared. How many rupees should he pay to the seller for this purchase?
(1) 7200 (2) 3450
(3) 6900 (4) 8100
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——————— Al teel [A51 URRUR 5120401 £AI9L 89,7 2L (48 Yol 5241 HI2 «dl=iel

sl diou yuid 2ic s3i.

(A)
(B)
©
(D)
(E)

(1)
(3)

70. opoyedl wiglami X wid Y’ Bl oledd AHAdl, 12001
A dlRidl Usl wiod [Qdl i dal ol yuil ikl

(1
2
3)

“4)

Aot

ARY

AUy APSI0L
AHIARGor Adsiel

udal
g5 'A' vid 'B' (2) g 'B' 24 'C’
g5d ‘B, 'C' v 'E' (4) g 'A",'B' »id 'E'

N

[ag ‘F’, ‘B* 2id ‘C’ [Andadla [oigail .

~

Oleel, UHUAAL ol 92 9 Ul VL AUR U 9.

[ag ‘A, ‘G’ w4 E’ ul w5 o/ UHAGHI
wAdl W, wuHu [oigail 9.

Oleel HHAAL UIFUR HHIAR €.

71, 2118 251 692 048R Udl g 3750 3Muaedl 2is 21 UL ol dzq2il viRlEl dl d gsideR
Sedl 3uul g ?

(1)
(3)

7200 (2) 3450
6900 (4) 8100
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72.  In the adjoining figure of AEFG, E
point H is the mid-point of the seg FG.
If mZEFH = 45° and
I(EF) = I(EG) = 1042 cm.,
then /(EH) = ? cm. .
(1) 1042 2) 10 FA o G
(3) 20 4) 2042

73. [(m+9) (m—5)]-[(m-8) (m+ 4] =2

(1) (Bm — 13) 2) (m -5
3) (m - 4)? 4 (m + 77)
4. Height of the trapezium PQRS P , S
shown in the adjoining figure
is 8cm. seg ST = seg PS and (\o& 8 cm. 4
I(PQ) = I(SR) = 17 cm. A
Then find the perimeter of
OPQRS in cm. Q T R
(1) 80 (2) 96
(3) 88 4) 72

75. What is the compound interest (in rupees) for Rs. 10000 for two years six
months, at the rate of 10 p.c.p.a.?

(1) 2650 (2) 3310
(3) 2500 (4) 2705

SPACE FOR ROUGH WORK

0411-Gujarati Set-A 30 of 32 Contd...



72.

73.

74.

7S.

N

ollog il 2115[d AEFG Hi [61g ‘H” 1 vt FGH,

E
weylog 9. o4 mZEFH = 45° »id [(EF) =

I(EG) = 102 @Hl. ¢lu, di /(EH) =524l A4l ?

(1) 102 (2) 10

(3) 20 (4) 20,2 pL43° o G
[(m+9) (m—35)] - [(m-8)(m+4)]=7?

(1) (8m—-13) 2 (m-5)

(3) (m-4) @) (m+77)

olloy<dl iglaui uudol Aqesivl S

PQRS | Gl=nsf 8 =Aul. .

v ST = 2y PS »id 8 2l

I(PQ) = I(SR) = 17 «dl. €, dl

COPQRS <l ukMdl seai w4l ¢a? Q T R
(1) 80 (2) 96

(3) 88 (4) 72

£.4.2.4. 10 <l €2 10,000 3Muuid, 2 9 6 wledid 54 Asqls 2o S2al 3(Ua 29?
(1) 2650 (2) 3310
(3) 2500 (4) 2705
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B AP 24P XL S XA AP 24P SABL AL AP 24P 2B XY

-~

c

54 SIAL 51 Hie

FCHIFC R RS IR AR HIRC TR R AR A HRC HCH

32 0f 32

0411-Gujarati Set-A



